Rl

TR FHIH CMP TR
R
THIT W : 100
5 : 2.00 @) AT THOT IOT : 200
AT

(1)
(2)

(3)
(4)

(5)

(6)

(7)

(8)

(9)

T BTICTAT TG ETRT ShHTeh JHAT ST Tehar fTe SIft STafrehariet et 7 forar g .
TE TYfETehd 100 JTET W 3T1ed. INCariHT ST IR ferfevems geard sevargeff = srogfeqeha ad
Y 3Ted fohar ATEHd AT=h W e ST, 3T aHE 3T TR Y STEBTATH &l TTg &ieh] THAeehiehgd

UEECGIAZICH

b I N NN O I

HTIAT THAT-ShHTeh &1 AehHTd SicTu forgran.

T TR fETehd el Teieh TR 4 Tl Ik Fafaelt 3E &I 1, 2, 3 37007 4 3718 sk fooiel 31Tea.
T IR ITART T T I huTeh ITUTIhaiel FE-IHTI qHTAT STURIhar THg T, TS Jhi
ST Aeha ITERHT FHG HLATT Al Hel14Id TTASHHATHITHR STATThd h G SIT5e ATH hIds(l TTal.
FTEhRRAT Fakd ShieoAT VTS SieTd ST,

o foramraTdt Wrdt sieR st Aream fafga et o, @ o ueie uva Wl sRieR SUSi wed
fereTelt Fmiior stTeaT=h Yo STTeHTE, SHGANA TEfe Y UHiE WIS IyATeh argd ugrE.

IR Tehal FHG hofol STR WISAT VIR ATEl. TG shetel ITR WG T IR Eeamd o qurEet S
Bl

TS JTHT FHE 01 ATed. IRAd Te JeATE IR A, SIS bl BIVR ATE AT QeFdT S I
ferder ST e EreaTe.

T T STRURERTe Hedith il SHEARTEAT ITRUTIhd et IRa ST 0T faet ST, as
TegfEaehned fafea sheten fafire smfte wed 0 (6 9%) wE.
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1. WU TIhaeh! Hs(d HIoTd?

(37) IRIYTFRAT @) AT

@) TH-a8Rd 2T SIEEIEIRR

(1) ™h (30) (2) ™h ()

(3) HTH () (4) I HATET
Which of the following comes under Eukaryotic organisms?

(a) Archaebacteria (b) Monera

(c) Blue Green Algae (d) Thiobacillus

(1) only a (2) only b

(3) only d (4) none of the above

2. Wole dRISIEET WaGH (F9) .

(37) FaTd AYST O HaTd T3RAT BEASH
) FECHHIRIT IAGAT ST&T ATIRT

(@) HeTHTRIEE (RYdR) Srgadrd.

() 1T HATIBT HIATAR T hedT STl

(1) 3=frer (2) SHIFASIHET

OELIEIE] (4) FZITITON

Identify the Phylum from the following characteristics.

(a) largest and most successful phylum (b) chitinious exoskeleton

(c) may show metamorphosis (d) show periodic shedding of exoskeleton
(1) Annelida (2) Echinodermata

(3) Arthopoda (4) Mammals

3. WIOHIGUHRN RV HF AFC THATER TR ISl STdrd?

(30) STEERHA TAR B,

@) Id TS SIS I7h T2 T8 BT

(@) ST s R wRo

(®) ATIHAT IGHISTAT ATSTI

(1) (30 3T ) 2) @ T @)
(3) (30) AT (3) (4) IR T
Which of the following are functions of human liver?

(a) formation of bile juice (b) digest old RBC
(c) formation of clotting proteins (d) storage of excess glucose
(1) (@) and (b) (2) (b) and (c)

(3) (@) and (d) (4) all of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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4.  WSIFUR HOTd S AT HHTER IR GrEcdr Sidrd?

(37) T HF @) IRRET diey TG0

(1) W (3 T @) (2) HTh (3N AT @)

(3) Th (37) 3MTOT () (4) TFURT T

Which of the following functions are performed by human ear?

(a) Auditory functions (b) maintaining equilibrium
(c) hormonal coordination (d) wake and sleep cycle
(1) only (a) and (d) (2) only (a) and (b)

(3) only (a) and (c) (4) all of the above

5. WeradATZR WIS Uhl HIvd HSiIT UST hidra?

COREEY () SAHIT

() AT (€) TETERIIERT

® R (%) G

(1) @0 T @ (2) (@ AT F)
(3) @) 3T (@) (4) TIGIHRT T4
Reproduction by means of fragmentation is seen in which of the following organisms?
(a) Hydra (b) Amoeba

(c) cycon (d) Spirogyra

(e) Paramecium (f) Planaria

(1) (@ and (b) (2) (b) and (c)

(3) (¢) and (d) (4) all of the above

6. Woles TAGh AT AT AeRigor=r diedgar e,

(1) AT >RAT >Rk JRIS (2) R ARTS> FrAT> A
(3) gRars IR Rrg> srifar (4) ST IR e >yiar
Arrange the following nitrogenous waste according to their toxicity.

(1) Ammonia >Urea> Uric acid (2) Uric acid> Urea >Ammonia
(3) Urea> Uric acid> Ammonia (4) Ammonia> Uric acid> Urea

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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7. IS AT IS ISl H2ll [Headic Sradra?
(37) I=ROT
@) I SaIEaTTS T 30T fEeh o
() HheAT FJITd
() T, HeaT U7 JSTAT =T
(1) ®TH (30 (2) W (¥) () AT (3)
(3) HIS (3N @) AT (F) (4) TSTHr I
How do plants get rid of their excretory products?
(a) Diffusion
(b) as resins and gum in old xylem

(c) in the form of raphids

(d) in the form of rubber, latex and essential oils

(1) Only (a) (2) Only (b) (c) and (d)
(3) Only (a) (b) and (c) (4) All of the above

. o o o
8. AR GHUITHIST oY en] bl cnEll Hlo) Y[ Slldrdn 3T|%7

(37) HIET ST IATRATSS @) ot

@) SATreRIsTT (©) SIS

@ ST () e

(1) ®Th (3N @) @) AT (F) (2) eh (30) () AT ()

(3) e (3N T @) (4) 9B (3N) (@) () AT (3)

Which of the following raw materials are required for photosynthesis?

(a) carbon dioxide (b) water

(c) oxygen (d) glucose

(e) sunlight (f) chlorophyll

(1) only (a) (b) (e) and (f) (2) only (a) (b) and (c)

(3) only (a) and (b) (4) Only (a) (b) (c) and (d)
9. R=d grafhe™ BIS wrE

(1) SITATIRIT THSRUAT TIR 60T,

(2) ARTAT ST g% SITAT JIR HI0T,

(3) TATSTAT I s T I Icdoi.

(4) IRTATIRIA T TAR H0T,

What is Reverse transcription

(1) Formation of mRNA from DNA

(2) Formation of DNA from RNA template

(3) Evolution of gas from stomata of plant leaves

(4) Formation of protein from RNA

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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10. 3T hgehl Ui SRR WISIGUHTOT HIVTT TR d?
(37) gk ITar.
(<) Tehed I[UTHA AT SUTHT HAThIR IMAThlX THAT.
(@) JATAROT UMY UM 31Th STdTd.
() 3TErhalsh YIS AST ATHR A,
(1) e (30 3T (@) (2) HTH (30) (@) T (F)
(3) HEB (3N) (&) AT () (4) TAFURT T
Which of the following are characteristics of a Eukaryotic cell?
(a) Nucleus is present
(b) single chromosome which is circular in shape
(c) membrane bound cell organelles are present
(d) size of the cell is generally larger than prokaryotic cell
(1) Only (a) and (b) (2) Only (a) (b) and (c)
(3) Only (a) (c) and (d) (4) All of the above

11. UTHgH =TS HI?
(1) TOSTO=T JhR
(2) ST A I SIS SehH Sf e a7 AT JTa a1 I 3TTaTd
(3) SIUAT HTYUITHTST TI¥AT SO faehe
(4) AR U T=EUET Ui YRR
What are palindromes?
(1) Type of virus
(2) Base pair sequences in the DNA that are same when read forward or backward
(3) Enzymes that are used to cut DNA
(4) Type of cells that digest other cells

12.  WTSIHUHT Hioft ST ST 2Mere?

(1) SIS bl (2) STERT Hehigcieh
(3) ST dfedT @) Wi~ Toheh
Who among the following discovered jumping genes?
(1) Rosalind Franklin (2) Barbara McClintock
(3) James Watson (4) Francis Crick

13. RIS SIATAT WIAGURT hIoTAT Taedd TErdr Iu] JAaifee fHesdra?
(1) TSTTRITHET DESERIEET
(3) Soae dTedeh a0 (4) C4 HTT

Which of the following stages of aerobic respiration yields the greatest number of ATP
molecules?

(1) glycolysis (2) Krebs cycle

(3) Electron transport system (4) C4 pathway

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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14. STre esar
(9RTTOT) (TSET T9R)
(31) STEITReT (i) FeaTYH
@) TESITHo! (ii) Trofr
@) AR (iii) Tefr
(@) FENCRITRS! (iv) IRT
@M @ @ @ @ @ @ @
1 i i i v ) iv i il i
3) i i i iv 4) i i iv i

Match the pairs
(Type of pollination)
(a) Anemophily
(b) Hydrophily
(c) Ornithophily
(d) Chirepterophily
@ b © @
(1 i ii iii  iv

G) i i i iv

(Agent)
(i) bat
(ii) water
(iii) Bird
(iv) wind
@ ® @© @
2) iv i iii i

@ i i v i

15. ToheR fohaT T Id TIohedT e i WUl HhIvTT ITSIaT AHTSET 2dr?

(37) AHIZaT
(%) SReIhTSeT
(1) h (31) 3T (<)
(3) (31) (&) ST ()

@) STATBEET
@) SE
(2) ®h (3N) 3T (3)
(4) TWF I9

Which of the following are included under cryptogams or non flowering plants?

(a) Thallophyta

(c) Pteridophyta
(1) only (a) and (b)
(3) (a) (b) and ()

(b) Bryophyta

(d) Gymnosperms
(2) only (a) and (d)
(4) all of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK

P.T.O.
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16. YU T TTUTRT fIam siresT.
(37 foE® TATIATT AT ATIROA: 4 o 5 UTehodT AT, AMEl UM SelaR 3_AATd
T 35 T Hob AT,

@) THaSh TALIATAT HAHT ATTROTA: 3 [RaT 3 =T ISid UTehedT RAATA. AT I RRIRT
AT F FHT dqHed AT YHTON SRAATT. FreAT 9T RIRT S9ard T T ddies AT

THTOTS STRAT.
(1) ®h I I 2) ®h T
(3) S8l I (4) ST I

Identify the correct statement/s among the following.

(a) Dicotelydons plants generally have 4 to 5 petal in their flowers. Their leaves shows
reticulate venation. They have distinct primary roots.

(b) Monocotelydons plants generally have 3 or multiples of 3 petals in their flowers. Their
leaves do not have sharp edges. They have large number of fibrous roots.

(1) Only a is correct (b) Only b is correct

(3) Both are correct (4) Both are incorrect

17. eI [T ST SIOTRT e stiesaT.
(37) AT & Il EORS TIedleaT dreias Fasor 394,
@) ATFTT=T 2N A 1880 T HII.
(1) ®<h 37 (2) Bh ¥
(3) TN HI (4) FET I

Which among the following statement is not incorrect.

(a) Auxin is a plant hormone which controls plant growth.

(b) Auxin was discovered by Darwin in 1850.

(1) Only a (2) Only b

(3) Both are correct (4) Both are incorrect

18. WoISUH I [T 35T
(37) TG & & AT 5 ST a3 AGIIHT Tgraadid.
@) FAIUH SATETAT ATUR UG THS UT9ITAT Wlol-a% VARl Hed hvare i HdTd.
1) T I Q) T I
(3) TN HA (4) T AT

Which among the following is/are correct?

(a) Xylem is mainly responsible for transfer of organic materials to other parts.
(b) Phloem gives support to tree and also helps in lateral movement of water.
(1) a is correct (2) b is correct

(3) Both are correct (4) Both are incorrect

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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19. TR AURHIETET RISl hioTd fTuT T 37T8?
(ol aN + 0 oD [aN o
(37) TAHETRIEA & TR Wzfi-avrsmren ufshaa Fearsr HeT Tsiradr.

@) ARG § TAER AR ST AR TSI 3T

@) o ARTHIAT HeATeAT STzt qaR Brard.
(1) Fh 3 I ) Fh I
(3) 37 MMOT § AT @) 99 99

Which among the following statement is the regarding plant hormane?
(a) Cytokinin, a harmore plays important role in cell division.

(b) Cytokinin are derivatives of nitrogen based adenine.

(c) They are naturally produced by root tips.

(1) Only a is true (2) Only b is true

(3) Both a and b is true (4) All are true

20. YRIGUSHT AT U st
(37) Sfosa, 2 & 3Ted feasy aRadidr 3TeRvr 3.
@ AR, die & < g gedi= SeExer s
() HIHS!, SHel, YAk & dexy o Jwdidl IaTe0T 3ATed.
(1) %<h 3T (2) Bh &
(3) F°h & (4) 99 = Ing .
Which among the following statements are incorrect?
(a) Dahlia, Marigold are examples of Short Day plants.
(b) Coriander, Beet are examples of Long day plants.
(c) Cocumber, Tomato, Sunflower are example of Long Day plants.
(1) Only a (2) Only b
(3) Only c (4) All statements are correct

21, T U SATsET.
(31) STETS shaeh T I3q Y2AReAT 3.

(@) FIEN SHATU] HIEFGEIR SRAATT d% HIel 9Tdsh IRAdTd.

@) TS SXfas TR 9.
OREERELINCIGERE LI

1) T, & Q) T
G) T, & 4) 3,9, %F, T

Identify correct statements.

(a) Bacteria does not have nucleus but they have proper cell structure.
(b) Some bacteria are beneficial while some are dangerous.

(c) Virus does not have proper cell structure

(d) All viruses are dangerous.

(1) a, c (2) a, b, d

(3) b, ¢ (4 a, b, c, d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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22. WIHTSURT HIVTAT U3N<AT diaedl ThUSNTH hash IS Aeld?

(37) IR JTolr @) IHIER
@) = == @) T

(1) 37 STOT (2) ¥ 3nfoT &
(3) 3T 3TfoT (4) 31 efoT g
Which of the following cells do not have nucleus in their RBCs?
(a) Mammals (b) Amphibians
(c) Sieve tubes (d) Reptiles

(1) aand b (2) b and ¢

(3) a and c (4) a and d

23. IR, T, TZeT AFT Hsig WTogie qre ST FIMRR0T AT Gloladehl Hiord Hay

RS BI?

(31 URIT T @) TR FEAT

(@) TIYOT Tegall @) ST
OEICEIR

(1) %h 3, § A1foT & (2) Bh 3, F, & MMMOT ©
(3) Teh 37 3MTOT & (4) YR T

Which of the following criterias were used by R.H.Whittaker while classifying the living
organisms into five kingdoms?

(a) Cell organisation (b) Body organisation
(c) Mode of nutrition (d) Lifestyle

(e) Habitat

(1) Only a,b and ¢ (2) Only a,b,c and d
(3) Only a and b (4) All of the above

24. ToRERT=T fhal B T JOM=AT THOIAHS WTSIAUhT HIvTT MSIET THTIZT grar?

(37) TATHET (&) ST

@) SRErhEeT @) SEe

(1) W<h oF 3TfoT § (2) Th 3T A1OT

(3) 3, g nfoT & (4) YR T

Which of the following are included in Cryptogams or non flowering plants?
(a) Thallophyta (b) Bryophyta

(c) Pteridophyta (d) Gymnosperms

(1) Only a and b (2) Only a and d

(3) a,b and ¢ (4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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25. SI-SITHA~T BUTSl h1a?

(1) ST=T SATHBHIThe SHSrET qial ST 20T 2Th &dTd.
(2) ST=T SATHS AT SISl Gival STeh Iqd:T AT YHTONT 2<h HedTd.
(3) ST=T Ushes STIh S TehaT 31T Toer Rz e &=

(4) TASTHT TRl ATEr.

What is co-dominance?

(1) When both the genes of an allelomorphic pair express themselves partially.

(2) When both the genes of an allelomorphic pair express themselves equally.

(3) When a single gene controls two or more different traits.

(4) None of the above.

26. AT AT BT

(37) A
() STegfaT

CORIEIEE]
©RIEIERISE

(CORNC) NGO RN )
M i i i v
G) i i i iv

Match the correct pairs.
(a) Globulin
(b) Albumin
(c) Prothrombin
(d) Fibrenogen

@ () (@© @
() i ii iii v

G) di i i v

(i) As TR 6.
(i) TRIRTATS YToTET HHAS G OT.
(iii) T MSfAvaT=aT Uishdd Yad 2ol
(iv) TSTATOAT ARAT.
G @@ &
2) i ii iv iii
@ i ii iv iii

(i) Creates Antibodies
(ii) Keeps osmotic balance in body
(iii) Helps in blood clotting
(iv) Kills bacteria
@ ® (@© (@
2) i ii iv il

@ i i v i

T HHTETS! ST /| SPACE FOR ROUGH WORK

P.T.O.
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27. WS [TaHEET [ER &
(37) TFATRMSARGR & YT FHARAS BURT SR W 1 o 3 auier Sfdle
TR MSHT Ial.
(@) AT BT WIS HHARA6S EIOTRT TSR A 1 I9MeT I ST e

.

TSR 3T [TU/A T/

9T 39Y

(1) ®h 3 (2) Bh ¥
(3) 8T @A FATT

Consider the following statements.

(a) Protein dificiency disease such as kwashiorkar commonly affects infants and children
between 1 to 3 years.

(b) Protein dificiency disease such as Marasmus commonly affects infants under one year of
age.

Which of the above statement/s are incorrect?

Answer Options :

(1) Only a (2) Only b
(3) Both a and b (4) Neither a nor b
%.ﬁﬂ@ﬂ
T
(%@WW @#W‘
@) TR VIII (ii) fersToy eReroT
(@) AR (ifi) feTORfesa

() TeGHIA (iv) ST
(v) TYHE

(CONNC) NGO RNC)) (CONNC) N CORNC))
(1) i i iv i 2) i ii iv v
3 i ii \% iii 4 i i A\ ii
Match the pairs :
A B’
(a) Interferon (i) Cancer
(b) Factor VIII (ii) Viral infection
(c) Somatostatin (iii) Haemophilia
(d) Interlukin (iv) Stunting

(v) Diabetes

@ ® © @ @ ® @© @
(1 i i iv i 2) i ii iv v
3 i ii \% iii 4 i i A\ ii

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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29. TIHROT AETLHAR HIOTd SIFTRROT AT 3TTR?

(1) 37T, wgATRAT, Riwrr (2) TTTHT, Thied, P IraEr
(3) TETIRITERT, R, ST SaT (4) AT, AXTEY, Yl eshd

Which of the following is its correct sequence?

(1) Azolla, Funaria, Riccia (2) Cycus, Eucalyptus, Ginkgo biloba
(3) Spirogyra, Mucor, Gelidium (4) Nostoc, Sargassum, Polytrichum

30.  hica=T TShld AT 9 WA= AATIZT Erdl, ATl AT ShT G Uehl HIuTdT?
(1) Tre IR - HAF ATAThAT - JTBedTa
(2) THHT UTATRAT - BTG - hTa HROT
(3) THHT UTATRAT - I MURIT - JTHcTET
(4) ITHATE - HHT FTATHAT - HTe HERoT

There are three steps involved in Calvin, which of the following is it correct sequence?

(1) Carbon fixation - reduction - regeneration
(2) Reduction - regeneration - carbon fixation
(3) Reduciton - carbon fixation - regeneration

(4) Regenration - reduciton - carbon fixation

31. WIoIhUd I [ ot

o o

(37) TRITAT T AME! RIS A T 818 ThRHGBIRIT SISo! STard.
@) HEAT 3R 8T8 TR ARSI Sedel T,

(®) WS THUT 270 BS I, A TSRS THUT 300 B ST
T 39N

(1) A, 9, F, HERS

(3) A, 9, & 4 3A,

Which of the following are correct statements?

(a) The muscles and bones are join together by tendon.

(b) In human body, bones are join together by ligament.

(c) Skeletal system helps to form red blood corpuscles.

(d) The total number of bones in adults are 270 while during childhood it is 300.
Answer Options :

(1) a, b, c, d ) c d

(3) a, b, (4) a, b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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32. WISIGUH! HIOTAT FohaT ARTSHYaTgR FEEa et Stard?

(37) TSI Bich
(@) U T
@ Tiwor

T 3R

1) A, &, e, &

3) A, S8, %

@ Fs AT

(8) XThHdle
() STOT STOT 54T HagT

(2) 3, o, b, s
4 3, 9, €, %

Which of the following activities controlled by medulla oblangata?

(a) Heart Rate

(c) Voluntary movements
(e) Sneezing

Answer Options :

(1) a, c, d, f

3) a, d, e, f

(b) Production of saliva
(d) Blood circulation

(f) Hearing and Sound sensation

(2) a, b, c, d
(4) a" b, d, e

33. AN SIredT JobdT.
U AT
(31) T T
S RPEIRPERER
() ERMETT T
©) AHIGAR TTeY

CORNCI NGO RN )
M i i i v
3) i i iv i

Match the pair.
Valve Name
(a) Eustachin Valve
(b) Thebasian Valve
(c) Haversian Valve
(d) Semilunar Valve
@ o @© @
(1 i ii iii v

3 i i iv i

=TT

(i) 3 HERIR
(i) IREET MR
(iii) 3THT HETRR

(iv) FETIHolT
CORNCI NGO RNE)
) i i i iv
@ i i iv i
Place

(i) Superior Venacava
(ii) Coronary Sinus

(iii) Inferior Venacava

(iv) Aorta
@ @® @© @
(2) i i i iv
4 i ii iv il

T HHTETS! ST /| SPACE FOR ROUGH WORK

P.T.O.
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34, GToy Qoedl 9T [aeR &
37 MNUSHT 21 aferT SfATfoesT I ar IHfoser STToT AR a1 S 9T Sirgdl.

@) URUSH g Tuier Ifera sTHieer @ Stuidrer IiHT Stedr.

IRFURT T [T/ HIoTdT 3MRd?
(1) %<h 37 (2) ®<h &
PEEEE] (4) IrEr ATEr

Consider the following statements.

(a) Neopilina is in Annelida which is a connecting link between two phylum Annelida and
Mollusca.

(b) Periplatus is an arthropodan organism which is a connecting link between two phylums
Annelida and Arthopoda.

Which of the above statement/s are correct?

(1) Only a (2) Only b

(3) Both a and b (4) Both a and b incorrect

35. Wl [SHdT [T 9= .

(3N) SR TS 39 T ot &,
@) TS IS hedhr TS 3T =0T,

@) URHe faTsr ORI got g,
TR fIHedn [aMidhr g e,/ HioTdr Sga?

T 3N
(1) ™th 3T 3MOT § (2) Th 30T &
(3) Th 3T AT & (4) TAFURT T

Consider the following statements.

(a) Mitosis completed in two main phases.

(b) Karyokines also known as nucleus scission.

(c) Cytokinesis completed without chromosome.

Which of the statment/s given above is/are correct?

Answer Options :

(1) Only a and b (2) Only b and c
(3) Only a and c (4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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36. USRI el 9% G2 WIiueh! ShivTdr fohaT IR gedrd?

(31 Ui sweror (&) U3 IHSIT
CORERES () URTEROT
T I
(1) 37 STOT (2) & STMOT S
(3) 3, & MO € (4) THURT I
Which of the following actions are carried out in a cell using the energy of the cell?
(a) Endocytosis (b) Exocytosis
(c) Diffusion (d) Osmosis
Answer Options :
(1) aand b (2) cand d
(3) a, cand d (4) All of the above

37. o GRIATARTH U3ITAT WeUeh! HhivTehOTAT SFTHI STIUIRT ST 3T
(mwﬁﬁx OEGEED

(2) THOTR

Wﬁw%
(1) $95 © (2) 3,9, F, S
(3) § AMOT § 4)F, &, S
Other than nucleus, which of the following cell organelles have DNA?
(a) Ribosomes (b) Chloroplast
(c) Golgi complex (d) Mitochodria
Answer Options :
(1) only d (2) a, b, c, d
(3) b and d 4) b, c, d

38. AR Tum Faer.

(3T) 3T YRR SHATo[a%e ITART SIOMAT UfTSiaehi=T Faiad & Hdsitash woTdrd.
(@) ST ITHRS MIFTIOT FHeTd Far degT foRga 85 Ufasifashi=r JruR HRor 3T g,
ERIRIIEL RS

(1) had I (2) hdB T

(3) 3F amfoT & (4) 37 o7 & g

Choose correct sentences.

(a) Antibiotics that are useful against many types of Bacterias are called 'Narrow spectrum
antibiotics'.

(b) It is possible to use a 'Broad spectrum antibiotics when the pathogen is known.
Answer Options :

(1) Only a (2) only b

(3 aand b (4) Neither a nor b

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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39. 3, ¥, 9 WY IT SISl 3BT,

I A9 T WY F H
(37 TSI | UTHEAT IToaTd STEoT=T I=ec] HEI
@) TTEAREST | TSHATHTS! YToaT= ST ehdl HFOM=T 99T | /i
(@) SReMPEeT |9l & 31s FgaTTer 3l AT T
@) FgAsrst | [9giEeR A=t TesTe Av7d RIREX:!
TIRIT I
(1) 37 37OT © 2) ¥, F, S
(3) A, T, 4) TF 9
Choose correct pair in column A, B, C
A Column B Column C Column
(a) Thallophyta | These plants mainly grows in water Algae
(b) Bryophyta These plants need water for reproduction Mass
(c) Pteridophyta | Tissues are present for conduction of water and food Fern
(d) Gymnosperms | No natural covering on seeds Cycas
Answer Options :
(1) a and d (2) b, c, d
(3) a, b, d (4) all of the above

40. WS U IV F9T= 90T H3I0Td S ATe?
(37) IT TS WG IR Siee, TR YRATYHTOT fhal SR 3.
@) IT HITAIS U1 & TRl ST,
@) UIeTdie Sid, BT 7T St . W0l a7 H9Tdie 3180 3R,

T 39Y
(1) AT TTofe (2) SfeaTe wroft e
(3) I Ui (4) TSI HHET FY

Which phylum is described in following sentences?

(a) Body of this phylum animals is long, threat like or cylindrical.

(b) Animals in this phylum are unisexiual.

(c) Intestinal worm, filarial worm are the examples of this phylum animals
Answer Options :

(1) Phylum Aschelminthes (2) Phylum Arthropoda

(3) Phylum - Annelida (4) Phylum - Platyhelminthes

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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41.

IART SISt 3fiesdT.
TOTH HE
OELEEE R RIRCERE

o AW N o
(2) TSRO - gletdl dle

(3) FATESTHENT - 920 [

(4) FIRIRSF MY - TAAET ST qTE Fgad.

Identify incorrect pair
Hormones Functions

(1) Auxins - Cell Eniargement

(2) Gibberelins - Stem Elongation

(3) Cytokinins - Cell division

(4) Abscissic Acid - Helps in fast growth of plants

42.

A STt S[ebaT.
PRI
(3N AT SLED
() Adg
CIRELD
©RIERIEL
T I
@ @ @ G
1 i ii iii v
3) i iv il i
Match the pairs.
Glands
(a) Hypothalamus
(b) Thyroid
(c) Adrenal
(d) Thymus
Answer Options :
@ O © @
1 i ii i iv

3) i iv il i

1. GIgTRT T At o,

2. 3R 91 T w99y fshar FEREa &t
3. Ta TR ga- [Famd ST,
4. WidhRzRAT FETeT SHom=ar Ysiiar [HE=or 39T,

(CORNC) RGO RN )
@ i iv i i
@ i i iv il

Functions

(i) Controls the pituitary gland.

(i) Controls growth and metabolic activities.

(iii) Controls behavior during emotional situations

(iv) Controls the cells which give rise to immunity.

@ @ © @
@ i iv i i

@ i i iv i

T HHTETS! ST /| SPACE FOR ROUGH WORK
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43, IR UTOATEAT IRRTT HIOTAT JfErSTqel 9B SRAdTa?

(1) AR U3 ) Fersore

(3) iR U3 (4) ISR 920
Which special cells are present in the body of sponges (poxifera)?
(1) Coller cells (2) Cnidoblasts

(3) Germ cells (4) Ectodermal cells

44, TSI ummET /RN =1
(37) YRS dehiOTehd IGehisl [ade-Tdl [shaT Tgd 4.
@) B TohaT TR Y=l 3.

T I
(1) Taes 37 I°g (2) HaB T INT
(3) =t AT (4) ST g

Consider the following statements.

(a) Glycolysis process occurs in mitochondria of the cell.

(b) This is the anaerobic type of respiration.

Answer Options :

(1) Only a correct (2) Only b correct
(3) Both correct (4) Neither a nor b

45, IghisT fage IMfOT sha =k URhIT e TIR EIOT=AT FADH2 31107 NADH2 3T T
IRIERIRCICI: b - o g— = p— T SETE=T ITRT Bidl.
(1) TSI, FemES ) FecAmEe, TSR
(3) BIEASHFITI, HISTHHT (4) FIETSH, BEGFETT

----and ----- vitamins respectively are necessary for the production of enzymes FADH2 and

NADH2 in the processes like Glycolysis and Krebs Cycle.
(1) Riboflavin, Nicotinamide (2) Nicotinamide, Riboflavin

(3) Phylloquinone, Cobalmin (4) Cobalmin, Phylloquinone

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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46. AT ST S[eaT.
@ I (i) fe=r
@ T (i) ¥S e
@) JeTeT (iii) e
OEISE (iv) <5 BIC
T 3N
CORNCI NGO RNCE) CORNC)I NGO RNC)
1 i i i v @) i i iv il
G) iv i i iii @ i i v i
Match the pairs.
(a) Sugarcane (i) Tikka

(b) Groundnut
(c) Potato

(d) Bajara
Answer Options :

@ o © @

(ii) Red Rot
(iii) Ergot
(iv) Black Heart

@ o © @

() ii i iii  iv (2) i i iv il

3) iv i ii iii 4) i i iv i
47.  IgH STISl/SIeT Alesdl

P AT FRE

(30 a7 - ARSI SRR

(@) AR - Brgr IR

COREE - ATGANST ST

TR 3TN

(1) & 3nfor &% (2) B 7

(3) 31 Mfor & (4) TS IT

Choose correct pair/pairs.

Name of desease Pathogen

(37) Tuberculosis
() Dysentery
(h) Cholera
Answer Options :
(1) b and ¢
(3)aand b

- Mycobacterium Tuberculae
- Shigella bacilli
- Samonella Typhi

(2) only a
(4) All of the above

T HHTETS! ST /| SPACE FOR ROUGH WORK
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48, TGS IFTT T Wi AT SMGORIT AT T ITRRTST MAHTH AN A TIR
(1) T - ST (2) 8BTS - 3ffdeT
(3) TorgfeRT Wit - fafay iR (4) T - BEPGIET
From amino acids, organs and cells produce various proteins necessary for themselves and
the whole body. Which of the following is incorrect regarding this.
(1) Skin - Keratin (2) Bones - Actin
(3) Pituitary Gland - various hormones (4) Blood - Hemoglobin

49. UENTIISHTEET Yeiaudr g faam st
(1) SIOTATEN ThRAT UATTHATSHIYET T2 To=aT & SehrTed SRTShedT J[ORIATE! JEAT oaord
.
(2) IS T L [T s grard.
(3) HTIYT AT STHORGET FvTeH foford 2.
(4) T I9 foa= ang

Which of the following statement regarding cell division is incorrect ?

(1) Before any type of cell division, the cell doubles up its chromosome number present in
its nucleus.

(2) Stem cells divide by mitosis.

(3) Somatic cells divide by meiosis.

(4) All of the above statements are correct.

o

50. geHSiah fshae Macs Tard g i S I I SiredT SfeaT.

(3N FEfET (i) I 2o
@) SR (i) &g UfaaTeh
CEIRRIE (iii) W ol ot
(@) T (iv) WTIRIT

G @) () (9 (CORNC) RGO RN )]
A i i il v Q) iv i i i
3) i v i i @ i v i i

Match the correct pairs of substance obtained by microbial processing and its roles.

(a) Lysine
(b) Lycopenes
(c) Xylitol
(d) Natamycin

@ ® (@© (@
(1) i ii i iv
3) ii iv i iii

(i) Artificial sweetner
(ii) Microbial restrictor
(iii) Protein building
(iv) Edible colours
@ () (©
2) iv i i
4 i iv i

T HHTETS! ST /| SPACE FOR ROUGH WORK
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51. STIhTT d=eI aTaRas HTOT IOTRT UT9M F off ShivTer IPMaR IYART qard arisdT gehrar
EIEREICIE] )
(1) I - AYHE 2) sRundrafes - T
(3) Seegh - TeAifRfesar (4) TEXHI - TANTO] 3HShwoT
Find the incorrect pair from the following regarding proteins produced by biotechnology
and the names of diseases they are used against.

(1) Insulin - Diabetes (2) Erythropoietin - Haemophilia

(3) Interleukin - Haemophilia (4) Interferon - Viral infectio
52. JEIGHUhT SHIOTCAT BT Al orelt 1], et e

@37 foEmT T g TER @) TaFEaT

(&) AATYOT (S) HIST

T 3TN

(1) th 9 (2) 3, 9, H

(3) 3, h, S 4) 3, S

Which of the following things are controlled by the left side of the brain?

(a) Writing & logical thinking (b) Creativity

(c) Conversation (d) Language

Answer Options :

(1) only b (2) a, b, ¢

(3)a, c d 4) a, d

53. Y SITSAT SfoadT.

HEET HOT Eop

(37) TATETSh (i) TRRTET A1 ?:ITQ-IlobU\I'
@) FTHRASR (i) U BroETSN REEor

NERIEERERIERERER

@) ARTHI<S : '
©) fli’?;? (iv) Ifaferd Tohaie 99<=gs & g
R :

CONNCIRR GO ) CONNCIENCORNC)
(1) i i i iv 2) ii iv i i
3) ii i i iv 4 il i iv i
Match the correct pairs.
Parts of the Brain Functions
(a) Cerebrum (i) Maintaining the bodies balance
(b) Cerebellum (ii) Control of voluntary movements
(c) Medulla oblongata (iii) Control of involuntary activities
(d) Spinal cord (iv) Centre of co-ordination of reflex actions
Answer Options :

@ @® (@© @ @ @® @© @
(1) i i iii v (2) i iv il i
3) i iii i iv 4 i i iv i

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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54, SEAYRT UgRRT (Rhede s a1 FeRMEsHl geie [ e = sufor I a3
IEEE
(3) I AT ShT ArGED! Sfeas JIgT Tor=T SrAeHdT HHl ald.
(@) & IO AT Tes AT e,
() B TSR AT 3TTE.

T 39N
(1) th 37 SR 2) ®h § TH
(3) T 0T & TR (4) I R

Consider the following statements regarding Sickle-cell anaemia and choose appropriate
option.

(a) In this oxygen carrying capacity of hemoglobin in such individuals becomes very low.
(b) It is a disorder due to chromosomal abnormalities.

(c) It is a hereditary disease

Answer Options :

(1) Only a is correct (2) Only b is incorrect

(3) b and c are correct (4) All correct.

55. YRIUehl Tehir TeT sfiesaT.
(1) IO faTsTeh /SISt Sl I I THdTd.

(2) ITOTEAT 3RIRTAIG HReTeh JMEAROTAT ANRAR Il FoTdTd.

(3) TAAATAT BIel SHdAS Jd G20 AT T AT SR S@HTGE! RT3
(4) TR RIS & SRS Tehd AToedl ThAREAT U3l TETAT SHdl =oTdrd.

Which of the following statement is incorrect ?

(1) Animals don't have different dividing non-dividing tissue.

(2) Protective coverings in the animal body are called epithelial tissues.

(3) There are dead cells in some plant tissue and these need much attention

(4) A group of cells having the same origin, same structure and same function is called

tissue.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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56.

AT ST eba.
THEATIIS 9Sh
(31) e

(N
O RIRIERISERERIPESIE
OERIECEIRE]
CRIRTRS SR

G @@ @ (S
M i i il v
3) i i v i

Match the correct pairs.
Elements in plasma
(a) Albumin
(b) Globulins
(c) Fibrnogen & prothrombin
(d) Inorganic ions
Answer Options :
a b C d

EaE}

(i) AT IRRHR AT FeTor
(ii) HIETOT

(iii) =AT OT AL Tmi%r IREER

(iv) I<h IMSTHTAT Tshdd Had

CHORNCI NGO RNE)
@ i i iv i
@ i i v il

Function
(i) Distributes the water all over the body
(ii) Protection
(iii) Control of function of muscles & nerves
(iv) help in blood clotting process

a b C d

M i i il v @ i i iv i
3) il i v i @ i i v iii
57. SieaT ST
I II
(37) USTET Il (i) &
@ Eﬁewi%fr EFRII?EF (i) TTEFS
CORGIESIEIRCE RSl (iif)
() AESIEl F=Tdr (iv) RIS
T 3N
CORNCIENEDRNE) CORNCI NGO RNCE)
(1) iv ii i iii 2) iv iii ii i
3 i iii ii iv 4) iv iii i ii
Match the pairs.
I 11

(a) Parasitic plant
(b) Insectivorous plant
(c) Saprophytic plant
(d) Symbiotic plant
Answer Options :

a b C d
(1) iv i i iii
3) i iii i iv

(i) Mushroom
(ii) Lichen
(iii) Drosera
(iv) Cuscuta

a b C d
(2) iv iii ii i
4 v iii i ii

T HHTETS! ST /| SPACE FOR ROUGH WORK
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58. YRIGUeh! ThIMT SISt 3TieaT.
(1) B3 - [USHT geTaid ®qiaR AleaisTe H0T.
(2) TOTRE - 3= AHRGH 0.
(3) NG - TU=wT Yrui g S
(4) AET - HS HSHT T FoRRIGHS WA &0,

Identify the incorrect pair from the following.

(1) Saliva - Conversion of starch into maltose.
(2) Bile - To make food alkaline
(3) Pancreatic juice - To convert complex carbohydrates into glucose

(4) Intestinal juice - To convert fats into fatty acids and glycerol.

59. denlAl cI')I<‘Ic|c‘-lol') d IIATHSD YSh[odl dX W NI cI')chlc‘-lfil') J IIATHS YhA]
FEOTdATd.
(1) ST, A (2) ~ThT, IRIHIZ
(3) AWM, TERT S (4) TSEEFH, A
Structural and functional unit of kidney is knownas ~ whereas  is the structural

& functional part of lungs.
(1) Alveolus, Nephron (2) Nephron, Alveolus

(3) Nephron, Bowmans capsule (4) Glomerulus, Nephron.

60. STE-Rd T e TS AT ATIHT Tehrdr STt ST,

(1) SHETIT & - I g (2) ST T - SRS
(3) SETTT T - HicATBRIS @) STad & - LHIS
Identify the incorrect pair of vitamins & its scientific name.

(1) Vitamin C - Ascorbic acid (2) Vitamin E - Tocopherol
(3) Vitamin D - Calciferol (4) Vitamin K - Retinal

61. SMFEEAT FITHNHR AT [THIT FHacaT FRId 3TTe?

(1) Fr=T AT AT HATH (2) P LU ST SRR

(3) FE EUSHT wh (4) FE SFRRIET snfor
According to Eichler division of Bryophyta is divided into,

(1) Class Hepaticeae and Music (2) Class Hepaticeae and Anthrocerotae
(3) Class Hepaticeae only (4) Class Anthrocerotae and Music

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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62. WAl TRIRTA AT AHIUI AR GTHH IehidT 3dAdT shH BT,

(37) 3fifeRTeT @) HEAT

() ETFgISH ©EIEEER]
BEIEENCIRE)

(1) A-TH-33T (2) A-F-I-H-8
(3) A-3-9-8-h (4) A-H-3-9-5
Arrange the following elements in descending order as they contain in human body.
(a) Oxygen (b) Carbon

(c) Hydrogen (d) Nitrogen
(e) Iron

(1) a-b-c-d-e (2) a-e-b-c-d
(3) a-e-b-d-c (4) a-c-e-b-d

63. WIHSUhT HIVTAT ASTRIST ST he [ha? 3T T SATd?

(1) 3 T2 (2) HITHTET

(3) T Ryehmi=t 4) =g & Rogm
Which of the following ailments is called 'Dancing cat fever'?

(1) Itai Itai (2) Minamata

(3) Sleeping sickness (4) Blue baby syndrome

64. AT UITT MBGET.
(37) BTEgT, AT 3, TaTes : Herar yroiag
@) ATTHH, TSI : JGHA A0
() SeATdIS Sid, TeTdlies Sid @ TSHHT AToiTT
() TSI, T 2 TRIHRT Ao

T 39N
()T, h, S (2) Fh S
OEEED ORE]

Identify the correct option.

(a) Hydra, Sea animon, coral : Phylum Cnidaria

(b) Sycon, Hyalonima : Phylum Mollusca

(c) Loa loa, Ascaris : Phylum Aschelminthis

(d) Bivalve, snails: Phylum Porifera

Answer Options :

(1) b, c, d (2) Only d
(3) a and c 4) All

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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65. ST IS 3Mes@r
NYSHgH - ATAT FAARAYS T g afRorms
(1) IS - 9 [U=esl Ig SPTdTd
) Biw - dice o e
(3) TR - U FYTOId TSYeaT MHATOT giar
(4) I9 SR A_T

Identify the incorrect pair.

Nutrient - Effects of Deficiency in Plants

(1) Nitrogen - Yellowing of leaves

(2) Zinc - Mottle leaf disease

(3) Potassium - Failure to produce carbohyddrates

(4) All are correct

66. TTSIGURI HIUTT FHalgh BeUTAHARIZS TR?
(1) Hegerst (2) e

(3) SRS (4) TGS 3T

Which one of the following carbohydrates is a heteropolysaharide ?

(1) Cellulose (2) Starch

(3) Glycogen (4) Hyaluronic Acid
67. WfIT MEdr T o= UlhaET I B - 3T 3R,

(1) U9 g TESH3M g SRAThBM g SIUAT
(2) SIUAT g TR g egaa g Wi
(3) TG g SR g SIUAT g U9
(4) STAT g YIIT g TSN g TAThBMH

The sequencial events that occur during protein synthesis are .

(1) Protein g Translation g Transcription g DNA
(2) DNA g Transcription g Translation g Protein
(3) Translation g Transcription g DNA g Protein
(4) DNA g Protein g Translation g Transcription

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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68. I FeH TRAT EIOTRT YTogTT =T UaTg GIAGUhl o5 IGaT STar.
(1) fageT snfor

(2) FIS I HSATHS 3T
(3) HdB H20 =T AU AT 96
(4) H20 =T YO AARId 9 30T SrSatcsi TS 31

The continuous upward flow of water stream in tall trees is maintained due to
(1) Guttation and transpiration

(2) Transpiration pull only

(3) Cohesive force between H20 molecules only

(4) Cohesive force between H20 molecules and transpiration pull

o o ¢ o
69. Qo) HEHSIEMHT [dHR ohT-

(31) e SEEL @i?@qh .
(<h) Alr- BIRd 2T (8) 2dl - dR2AT Hgslld-
TIAYHT HIOTAT/d TSlT ST Wd/ ST G TUH dT9=e SATdla?

(1) 31,  oT § (2) %th & 3T S

(3) 3, § 3OT & 4)

Consider the following microorganisms-

(a) Azotobacter (b) Azospirillum

(c) Blue-green Algae (d) Algae-Fungi symbiosis
Which of the above is/ are used as biofertilizer/biofertilizers?

(1) a, band d (2) Only ¢ and d

(3) a, b and ¢ (4) All of the above

70. WO 9 [AERIT @ T Ing f9um Haer.
(37) AT Ui IURATAT 23 SredT IRAdT.
@ Afaarer ST [ ORE =, d% IaRd 22 SHediHT e (T JoRE)
T
ﬁ@gﬁ%ewl gl faer afeaihgT U X ORI 30T A X [OA [d=T sEehgH

@) STHESAT FSTAT X ORE A4l ATeAT AEhgd fHesar.

(1) TS a%‘ (2) 31 3NMOT § %eh

(3) & 30T & eh (4) 31,  OT & Hh

Consider the following statements and choose correct statement/s.

(a) Human cells contain 23 pairs of chromosomes.

(b) The twenty-third pair is the sex chromosomes, while the rest of the 22 pairs are called
autosomes.

(c) Biologically female child inherits an X chromosome from her father, and the other X
chromosome from her mother.

(d) Biologically male child always inherits his X chromosome from his mother.

(1) All of the above (2) a and b Only

(3) c and d Only (4) a, b and ¢ Only

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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71. aﬁﬁﬁuﬁﬁwwaﬂﬁrﬁiﬁ%ﬁﬁw
(37) T AT 0TS HGAT e FMEX TSUM=AT FAIAG,
() Wﬁ' Ohcldl Hg‘lldr&tﬂl 14 ST 3THAT.
() ITSIAT HOATYA ITSIAT HJTd dex dedrd.
(@) AHATS, UTSI=AT HSTad=AT 32 el ST,
(1) Bh § (2) Wt 37 3T &
(3) Bh  3MOT € (4) TISTHT Ther ATar
Consider the following statements and choose incorrect statement/s.
(a) Cranial nerves are the nerves that emerge directly from the brain.
(b) In humans, there are 14 pairs of cranial nerves.
(c) Spinal nerves emerge from segments of the spinal cord.
(d) In humans, there are 32 pairs of spinal nerves.
(1) Only d (2) Only a and ¢
(3) Only b and d (4) None of the above

72. IO, QWISIATH! HIUTT FIRAAT IS HURE qUMT HURSH (stress hormone) FEUTT
MBES SATA?

(1) 3ff=aR® e (AB(a) @) S

(3) AT @) PRt~

In plants, which of the following plant growth hormones is also known as stress hormone?
(1) Abscisic acid (AB(a) (2) Ethylene

(3) Auxins (4) Gibberellins

73. WIS hel 92 ST 3.
- AT SSTRT [ohdl SUaRT T 3Mddc SITdTd.
- Sgdh URSIE! TR
- ToTeira i
- Ul JRAT 379
BRI a%r@ﬂiaw TG (phylum) 3TET.
(1) I9 gSgifehd (3HToe (2) d9 ?ﬂ?@fﬁ CEERIDE)
(3) TG IThSETIT (4) TT qIRRT
Below some characteristics are given.
- CommOnly known as roundworms or tapeworms.
- Mostly parasitic
- Bilaterally symmetrical
- Having complete digestive system
Identify the phylum from given characteristics.
(1) Phylum Annelida (2) Phylum Platyhelminthes
(3) Phylum Aschelminthes (4) Phylum Porifera

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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74. AP T (SRS HAGARANTHARNT), TH Wl ST [T q Bar.

(1) SRS AT

(3) TERMEIATET BT d

(2) TIAGARIAT T

(4) TTRATGISAT TSN

Chagas disease (American Trypanosomiasis) , a Protozoan disease is caused by

(1) Trypanosoma brucei

(3) Trichomoniasis vaginalis

(2) Trypanosoma cruzi

(4) Toxoplasma Gondii

75. ST .

(1) iii i v iv
3) i ii iii v
Match the pairs

I

(a) Nutrophils

(b) Basophils

(c) Acidophils

(d) Monocytes

Answer Options :
@ ® @© @
(1) i i \% iv

3) i i i iv

11
(i) feufeT g RRearss Fi=r =gor
(i) wfasitass FfFar
(iii) TETOT U
(iv) TS e
(v) STEH 9% 8ot
CHORNCI NGO RNE)

2 ii i v v

4) iv iii v i
i

(i) Heparin and Histamine secreatior
(ii) Antibodies formation

(iii) Scavangers

(iv) Phagocutes

(v) Healing of wouds

@ O © (@
2) i i iv v

@ iv i v i
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76. IRY ST SeadT

I 11
(37) JTAJATTSIOT (i) 37 Shaa
() qegHA (i) g SeTaa
@) ThaT (il) &' STITIS
SEREE (iv) T STaTaa
g 3T

G @@ B (S (CORNC) GO RN C))
1) i i i v @) i i i v
(3) iv i i i @ i i iv i

Match the pairs

I II
(a) Night blindness (i) Vitamin - A
(b) Rickets (i) Vitamin - D
(c) Scurvy (iii) Vitamin - C
(d) Beri- Beri (iv) Vitamin - B
Answer Options :
@ ® © @ @ ® © @
() i ii iii v (2) i iii i iv
3) iv i i i 4 i ii iv iii

77. AT U/ MeEr.
(1) T TRIRTAT 33 ATTIIhgT gaaTehe I T8 HedTd,

(2) QI(I ERIETEY ?IQ\HIUJII 2dX HDTehe Xthid dg- hXdld.

(3) EFel SRR

(4) T T

Choose correct statements.

(1) Arteries carry blood from various body organs to near heart.
(2) Veins carry blood from heart to various body organs.

(3) Both correct

(4) Neither correct
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78. WISIAUhT HIOTd THIHROT TRIFRILTOT ATHTRAT graaa?
(1) CO, + H,0 g CH,0 + O, (2) 6CO, + 12HZO g CH,0, + 60, + 6H,0
(3) 6CO, + 6H,0 g C6H1206 + 60, (4) CH,0, + 60, g 6CO, + 6H,0
Which equation shows the reactlon of photosynthesis?
(1) CO, + H,0 g CH,0 + O, (2) 6CO, + 12H20 g CH,0, + 60, + 6H,0
(3) 6CO, + 6H,0 g C6H1206 + 60, (4) CH,0, + 60, g 6CO, + 6H,0

79. WIHBUDT HITAT IR, T, T. U] (RNA) UFIF FLTOT= H Hdr?
(1) mRNA (2) rRNA
(3) tRNA (4) pRNA
Which of the following component of RNA performs the function of protein synthesis?
(1) mRNA (2) rTRNA
(3) tRNA (4) pRNA

80. UeIcs TahedT AlEdaa S=Radl 3TTesT.
(37) IT A IMHT 19 MR Hoed 3.
() U HIBMIRET AT TRAAET 9T9R el BT 3R,
(@) AT TIIATAT HTeT FFIST IR 3ffe 3fffeRige BV Ha3l STal.
(1) STSTRT 2) d&T
(3) TgesdT (4) AT ATE
Find out the herb from the following information.
(a) Its scientific name is Osimum Sanctum.
(b) It has been used since ancient age.
(c) Some parts of this herb is used as Anti-oxident.
(1) Bajra (2) Tulsi
(3) Adulasa (4) None of the above.

81. AN ST BT
(3 SFREIST (i) T SR TUIAR BT
EIEEEESEEEE (i) TITE=AT IHT T STOTOIRATST
@) AT A RIH (iii) TTERSAT FEAU & RIS WU HITATIATST

CORNGCINNCD) CORNCIINCD

1 i ii iii 2) i iii i
3) i iii i 4 i i iii

Match the following

(a) Lactobacillus

(b) Acetobactor Aceti

(c) Bacillus Megaterium myxcococus

(i) Converting, Milk, into curd
(i) Degradation of tea leaves
(iii) To bring fraegrance into tobacco leaves

@ @® (© @ @® (©
U i i i @ i i i
3) i i i @ i i i
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82.

FIBRTAT HHTd Geles IVl JTR AT TEd?

(37) dF ERdeeRled, SSET, a9 IRuIST 3T9dd.

() °1')°|°1')i‘54| S *-I|<‘|°h|®v|\7|h| YT AT hdld.

(@) HIHIT 3T WA TE&UTT ATSTdTd.

(1) 3, &, & I (2) 3 AMOT T AT
(3) ¥, % A (4) 3T AT & TG
Which among the following statements are true regarding fungi.

(a) They are non-Chlorophyll, non-photosynthetic, and hetrotrophs.
(b) Fungi are studied in Mycology.

(c) Food is stored in terms of proteins in fungi.

(1) a, b, ¢ true
(3) b and c true

(2) a, and b true
(4) a and c true

83. 3 UM 3froswr.

(37) STATRTIET TeTale Il aToft 8= STHI AT Sl [SHhIvlT JTedTd.
@) RREIFIeT a7 TeTdies aaoTdime Tag-r HeT YO 99,

(1) 37 FTT

(3) TRl I

Find out incorrect statements.

MEERR]
(4) T T

(a) Plants in Bryophyta grow in water and on land.
(b) Vascular system is not well defined in pteridophyta.

(1) a is incorrect
(3) Both are correct

(2) b is incorrect
(4) Both are incorrect

84. UL ST AT T ATAT ITANTAT SIS AT STl T

(37) R TS

@ mﬁﬁ%wgﬁw
(55)%'%@

(@) ANEH 36T
(1) 31

(3 =%

ERUIS

S EMICRC OICRAY GG

RIRI SRS EIERIG

ATIRIT Wdsiae (Antibiotics) FHSAT.
AT HEAH BRI,

(2) 9

4) s

Find out incorrect pair from the following pairs of algae and their uses.

a
(a) chara algae

(b) Irish agar

(c) Chlorella algae
(d) Sorgassm algae
1) a

(3 c

b

Used as salad in food

Used to make Chocolate
Used to produce Antibiotics
Used to produce artificial silk
2) b

4) d
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85. URIAUHI I IRAVMY TTuT 3fiesaT.

(37 Tee® TTEArAT THHT ATIROTA: 4 o 5 ThedT AT, Al UM STeaR 3TRAAT.
T Se5h UTATHS Hob STAAT.

@) Thadh TITATAT BSHT ATIROTA: 3 Tohal 3 =T Yeid ITeheddT SAAT. ATSAT AT ZRT
AT FAT dqHed AT JHTON IRAAT. FTeAT IHMHET RIRT Tard § AT dies Aredl

JHTOTS 3T_AT.
(1) ®h 7 I 2) ®h T I
OEEER 4) ST T

Which among the following are correct statements?

(a) Monocotelydons plants generally have 4 to 5 petal in their flowers. Their leaves show
net like structure. They have distinct primary roots.

(b) Dicotelydons plants generally have 3 or multiples of 3 petals in their flowers. Their
leaves do not have sharp edges. They have large number of fibrous roots.

(1) Only a is correct (b) Only b is correct

(3) Both are correct (4) Both are incorrect

86. Ui TN 3T ORI faam 3fiesa.
(37) AT & Il EORS Il deiay [Fa=or 394,
@) JATFTT T MY S 1880 T ST,
(1) O<h 3T (2) ®h &
(3) 3T A (4) EET >
Which among the following statement is not incorrect.
(a) Auxin is a plant hormone which controls plant growth.
(b) Auxin was discovered by Parwin in 1850.
(1) Only a (2) Only b
(3) Both are correct (4) Both are incorrect

87. I faar st
(37) EFER TN T Y TN TeHT AT AT Framheea Rawdrsar=ar 300 Iuiqdr
FIHA § A9 Q.
@) Wied 9 BEEE SHHHEAEST T8 STRTTE SIAe! ST YA Bidl.
(1) th 3T
(2) Bh &
(3) St T
(4) <I=ET 3rFT
find out correct statements.
(a) The lichens are slow growing, long living organisms which were named lichens by
Theophrastus in 300. B. C.
(b) Lichen is used to produce alcohol in sweden and Russia and also in dying processes in

industries.
(1) Only a (2) Only b
(3) Both correct (4) Both incorrect
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88. T IFUIRY e 3fres.
(31) SIS SIS Y @FEAGH) T ThIS Esd ATerd.
@) AT TIRAATH G=T AT SIFN TS5 IR,
(1) ®th 3 HI (2) Bh ¥ I
(3) ST\ (4) TN AFA

Which among the following are true?

(a) Gymnosperms do not have tracheids in xylem.

(b) Gymnosperms have presence of Rhizoids in place of true roots.
(1) Only a true (2) Only b is true
(3) Both are true (4) Both are false

89. WGIAHUS! I fuT 3MesaT.
(37) TISH § A AeT g TSI a3 I Trgraedrd.
@) FATH SMSTAT MR S0 TaY I0TAT Glol-a% TATEIST Hed H0ars hiT Hdid.
(1) 3T A Q) IT

(3) Sal I (4) ST I

Which among the following are true?

(a) Xylem is mainly responsible for transfer of organic materials to other parts.
(b) Phloem gives support to tree and also helps in lateral movement of water.
(1) a is true (2) b is true

(3) Both are true (4) Both are false

90. TR TURHTITE Yelcuehl HIVTT [ I 3TMR?
(37) TSR & IR T2 -[ITTSTeaT Uishad Aegaral AT Seiadrd.
@) ATECIHEAA & FAER TR AT 6 iR STaar.

@) o TARTRRIET HA<AT Sl ddR grard.
(1) &h 37 T 2) &b T T
(3) 3T SMOT & A (4) 99 99

Which among the following statement is the regarding plant hormane?
(a) cytokinin, a harmore plays important role in cell division.

(b) cytokinin are derivatives of nitrogen babed adenine.

(c) They are naturally produceed by root tips.

(1) a is true (2) b is true

(3) Both a and b is true (4) All are true
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91. YRISUhT I faam sivesaT.
(37) ST, TIg &f 3Te9 Toaw S-adidl 3aTexvl 3TTed.
@) PR, die & G feawr gedi= e smed.
() HIhel, Sel, A% & &Y fead gl IeTexvr e,
(1) ®h 37 (2) Bh ¥
(3) B & (4) T Frar = e,

Which among the following statements are incorrect?

(a) Dahlia, Marigold are examples of Short Day plants.

(b) Coriander, Beet are examples of Long day plants.

(c) Cocumber, Tomato, Sunflower are example of Long Day plants.

(1) Only a (2) Only b

(3) Only c (4) All statements are correct

92. IO U el
(31) C, H, 0, N IREl 16 TAHH & TAAIAT AEATS! IRsr=l T,
@) THOT 30 AHeSH & TAIdId 3TeegT IdTd. dTdhT N, P, K, C, O T FHoieh (critical)
g T,
(1) 3T 3 T Q) T ITAA
(3) T T @ T

Find out incorrect statements.

(@) 16 elements such as C, H, O, N are responsible for plant growth.

(b) There are 30 elements in plants out of which N, P, K, C, O are called critical elements.
(1) a is incorrect (2) b is incorrect

(3) Both are correct (4) Both are incorrect

o o Y o o X
93. YcldUchl h[UTd Hls %‘ JAI AT 9T bl hdid?

(30 FESGHS
@ Fere

&F) FEeS
(1) %t 3T (2) ®h &
(3) T ¥h & @) 9

Which among the following stem perform the function of stem?
(a) Phylloclade

(b) Cladode

(c) Phyllode

(1) Only a (2) Only b

(3) Only c (4) All
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94. I AU 3T,
(37) IHUIHET STSUT 3.
@) AR TH9IHSE TTheld ST 31T,
(@) PPRET eT=ur FHdTd.
@) PRTE Iheld HHI L.
(1) 7, & KRS
(3) TS TS (4) I IH

Identify correct statements.

(a) Arteries has valve.

(b) Generally, arteries have more blood pressure.

(c) Veins does not have valve.

(d) Blood pressure in vein is much less.

(1) a, c (2) b, d

(3) All correct (4) All incorrect

95. WSS Gceh HIMIT Hsrad 3ad.

@3N THE AR

@) TSEEA

() TG G

(1) IO (2) TR=T
(3) AHRM (4) 39

Following parts are related to : -

(a) Bowmans capsule

(b) Gromerulus

(c) Loop of Henle

(1) Pharynx (2) Nephron
(3) Stomach 4) llcum

96. AT YT 3MieswT.
(1) THTEATSST AT [T UeHT Yeraie g waidz grd.
) fefeam 9t faemges ufaHe wuiaR e smgra 2.
(3) SBTIUST [T HaTd waid Hargrd ard.
(4) I9 W<

Identify correct statements.

(1) Amaylare enzymes converts carbohydrates to glucose.
(2) Tripsin enzyme converts proteins to Amino acids.

(3) Laypase enzyme conertes Fats to Fatty acids.

(4) All are correct.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



38 AT HE IRAR

97. ghrd a9 3T
(1) HaeiST € AN aIsed IaTe 0T 38,
(2) hIST B Ui TaIged 3TET 317,
(3) BT & STAARRISSY IETE0T 3R,
() TR ® Uil exissd 3aTe0T e,
Identify incorrect statement

(1) Fructose is an example of Monosaccharids
(2) Sucrose is an example of Polysaccharides
(3) Lactose is an example of Disaccharides

(4) Dextrin is an example of Polysacchavides

98. IURIATAT THUT WA TE& HTART Gl hioTdaT ST HHad ATar?
(1) e RigH (2) =R g
(3) = T RigH (4) FrEathood Riga
Which of the following disorders that do not occur due to numerical chages in Chromosomes?
(1) Down’s syndrome (2) Turner Syndrome
(3) Blue baby Syndrome (4) Klinefelter Syndrome

99. ‘SaeR3NMBIST (Bacteriophage) TUTST THig?
(1) STATIHAT FRPT HROMR [GSTIL (2) IO AT UMY SIETIL
(3) SiTdeh Zeedi TSl ATURG SO SETIL (4) TARIAAT HIT IO [ASTOL

What is meant by ‘bacteriophase’?

(1) Virus that infect bacteria (2) Bacterias that infect animals
(3) Bacteria used for bioterrorism (4) Virus that infect plants

100. HTIRIRTIT (Mycorrhiza) i 311‘%?
(1) Saeh AT Ao HAesiar A
(2) ®aH AMMT AT Hob e AR
(3) STETY] STOT SeTdi=l Hob AT AT
(4) TINTOL STOT SERTdT Hob AT AR
What is ‘Mycorrhiza’?
(1) Symbiotic association between funges & Algae

(2) Symbiotic association between funges & plant roots
(3) Symbiotic association between bacteria & plant
(4) Symbiotic association between virus & plant roots
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